2

. AEHR
(1) KERRAFRELABORE
ERSEABFHAE S EE, K 1 IR T 8380 KBRS “ 72K L HES LRI
13 Hi(35.1%), “ORZFUNVRAK” LHIES - HLRIE 9 Hi(24.3%) Thh o7z,
— 5, “ETARUV KT BHIES AU AT 13 Hi(35.1%), “ETTHET ARV KT EHIES DI 2
H15(5.4%) Tdh-oTz,

LTHETZvK
5.4% (21 25)

EHNK

X7 720K 35.1%(1341)

35.1%(13 41 50)

SRR 27 AR
37 His

LLENNRK
24.3% (91 55)

<E1>KERERINFEERRBOES

(2) AT EIC X T HKE PSR D LR
Wk 27 HEEOFHA M 37 HUSDHH 24 HUSHNERL 26 HELFRICHLS TORAE THH-T-, =
oD 24 M DK ERERAE L5 & [RIU THo72E A 13 ik, B<IRo7-L2 578 6 His,
HIpoT- L AN 5 S TH -7, (F2)

<K2> AIEEISHT HKERERO LLEBRIFEELR R TRESN - RO HE)

AT LD AL AT LD i
S B L Aot B
A H R §) 13 5 24
A (%) 25.0 54.2 20.8 100
(3) KEEMEERE—E
AT B R RS, T B B AR 2 (2R,




(4) LMD HBRRR
EREA O HBIAERE K OMeb BN\ EE SRt A (18 50 o HHBBEIE 1T, £ 4 oL
BUTHS,
SRR 27 I ERH 2L ORUS THBLZHIEADIL, O~ AT E LV Tholz,

<FR4> EREVDOHBERERVMELELLIEREVOHREE

KE b ) A (O+@) | HBEIS & 5 (@)
Wtk BEEE (BD) | F1E (%) (%) BEEE (D) | FIE (%)
1| 70 0 0.0 0 0.0
2 | FITRLY 12 45 2 2.8
3 | BT 8 3.0 1 1.4
— | 4| vor= 8 3.0 3 4.2
5| FHLRE T 10 3.8 2 2.8
{i 6 | LT 5 11 | o 7 9.9
3 I 2 0.8 0 0.0
8 | ~ehoR 4 1.5 1 1.4
9 | v~herosm 7 2.6 2 2.8
10 | I=esE 10 3.8 3 4.2
11| Ao~ HA % 8 3.0 2 2.8
12 | Ao ~hesrs 10 3.8 4 5.6
= 3| o=y 17 6.4 5 7.0
§ 14 | FooRan 1 04 | .. 0 0.0
;“L 15 | A=Y~ 8 3.0 ' 0 0.0
uo | 16 | A re e T 7 2.6 2 2.8
A7 essrnnos 18 6.8 7 9.9
18 | ¥<hooR % 11 4.1 2 2.8
19 | A=y 7 24 P 2 0.8 0 0.0
_ | 20| p=v 18 6.8 5 7.0
gi 21 | =RRey/axe X 6 2.3 99,3 0 0.0
2|22 verien 26 9.8 9 12.7
K |2 [sxmeny 13 4.9 3 4.2
24 | IRBY 13 4.9 7 9.9
= | 25 | TAUBYII= 8 3.0 1 1.4
x b | 26| =53 10 3.8 2 2.8
{SS% 27 | ¥ A 7 26 | 135 0 0.0
X 28 | =AU A 10 3.8 1 1.4
29 | Far ST 1 0.4 0 0.0

& 3t 266 100 100 71 100

EFNE
() XiT, KD DURS > TODY UKD £
(?3‘5) %IJ/EHC“)I/ \T&i@%i)\@f\:&b\ /El\§+7b§ 100%0:f£6f£b \:kﬁg&)éo
— 6 —



